Cell Phone Rate Plans Math Connections Worksheet
Name: ___________________________



Date: ___________
Complete the following questions using fractions to determine the solutions.  Express all answers to the nearest penny.

1.  Using the given costs and minutes for the following plans, determine the cost per minute of each plan. 
	Plan
	Cost
	Minutes
	Cost per Minute

	A
	$29.99
	300
	

	B
	$39.99
	450
	

	C
	$59.99
	900
	

	D
	$89.99
	2000
	


2.  Suppose Plan B is a family plan.  Your mother signs up for this plan and decides you must pay for the number of minutes you use. 


Last month you used 150 minutes.  Determine


a. What fraction of the total minutes you used.

b. How much you owe your mother

3.  Your mother has upgraded to Plan C.  You are still responsible for paying for the minutes you use each month.  Suppose you know you only have $40 to spend on your cell phone bill this month, how many minutes can you use of the total?  (Hint: First determine the percent of the bill you can afford to pay.  Round the percent to two digits for ease of calculation.  Once you have this, use it to determine the number of minutes you can use.)

4.  A married couple has cell phone Plan B.  Every month, the husband uses 2/5 of the minutes and the wife uses the remaining minutes.  Determine how many minutes the husband uses and how many minutes the wife uses.

5.  A married couple and their teenage daughter share cell phone plan D.  The husband uses 1/6 of the minutes and the wife uses 1/3 of the minutes.  


a. What fraction of the total minutes does the teenage daughter use?  


b. How many total minutes does she use?
Answer Key
1.

	Plan
	Cost
	Minutes
	Cost per Minute

	A
	$29.99
	300
	$0.10  or 10 cents/minute

	B
	$39.99
	450
	$0.09 or 9 cents/minute

	C
	$59.99
	900
	$0.07 or 7 cents/minute

	D
	$89.99
	2000
	$0.04 or 4 cents/minute


2.  

a. 150/450 = 1/3 of the total minutes

b. 1/3 * $39.99 = $13.33
3.

You can afford to pay $40 of a $59.99 bill.

So the percent you can afford to pay is:

40/59.99 = .67 (rounded to 2 decimals), 67% of the total
Now, take 67% of the total number of minutes.

.67 * 900 = 603 minutes.  

4.

Husband: (2/5) * 450 = 180 minutes
Wife: 450-180 = 270 minutes
5. 

a. Teenage daughter uses the minutes left over from the husband and wife.  So we need:

1- (1/6+1/3)

First determine 1/6 + 1/3 = 3/6

Now:

1 – 3/6 = 3/6 = 1/2
b. She uses 1/2 of the total or 1/2 * 2000 = 1000 minutes
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